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e nine out of ten as a decimal.
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 Correct answer.
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The output is 5 times the input.
Complete a function table for this
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Order the changes from least to
greatest.
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Question | 4 % = el |
The change in five stocks during a | L pssl 3 o pged Auaad B ) Jig,
day are; 5 ’ ol
5.6, —2 g., 0.18,-4 %,and 1.35 5.6,—-25,0.18,~4 3,1.35
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Determine if the two expressions in
€ach pair are equivalent. If they are
equivalent, select the property that
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is illustrated.

f 0+5 ,5 0+5. 5
2x12 ,12x2 2x12:12x2
3-16 ,16-3 3-16:16-3
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Evaluate the expression.
5+ (82—2)x2
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Question 1 gl

Use a coordinate plane to represent
Yaseen's stone garden. Graph points
E(—1,—4) and F(—3,4). Then reflect
point F across the y-axis and point E
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across the x-axis. What is the shape of faypall diiua JSala
his stone garden?
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